

109

**Diversion of 0.07 Ha. Forest Land in favour of Executive Engineer Public Health
Engg., Division Tohana for Inlet Water Channel from Kalwan Feeder to BML RD
531975 under Forest Division & Distt. Fatehabad.**

Bill C.A. Scheme

Detailed scheme for Compensatory Afforestation to be carried out in lieu of

0.07

ha., of forest area to be diverted for

**Diversion of 0.07 Ha. Forest Land in favour of Executive Engineer Public Health
Engg., Division Tohana for Inlet Water Channel from Kalwan Feeder to BML RD
531975 under Forest Division & Distt. Fatehabad.**

Details of de-graded forest land/non forest land where CA is to be carried out :

Bhattu-Ramsara Road, Km. 2 to 12, L/R Side

Division :	Fatehabad	District	Fatehabad.	Village.	Dhabi Kalan
-------------------	------------------	-----------------	-------------------	-----------------	--------------------

2).	Description of Area :			
i	Whether the site selected for Compensatory Afforestation is a land bank or not			Yes
ii	If the C.A site is other than the land bank, reasons be given			N.A
iii	In case of non-forest area identified for CA, then what is the distance of CA site from adjoining forest boundary			N.A
iv	Soil Type			Sandy Loam
v	Topography :	a. Hilly/Undulating/Plain. b. Slope:-Steep/Medium/Gentle.		
vi	Whether the area is bearing any root stock of vegetation			No.

3 Plantation of Model:-

Copy of the approved Compensatory Afforestation Scheme/Model showing component wise physical and financial break up is as under :-

Detail of year wise breakup of requirement of funds is as under :-

The plantation cost is calculated for tall plants norms at 4mtr x 4 mtr spacing and 250 plants per RKM and it is approved by the PCCF, Haryana's letter no. D-X-66-1605-25 dated 06-06-2012 at the wage rate of Rs. 190/- per day (New Wage Rate Rs. 234.56) as under :-

Area to be Diverted	0.07	
Area to be planted (Ten times of the felling Trees)	Ten Times of 0.19 Ha. Felling Trees	
Nos of trees to be felled	19 Nos.	
Nos of Plants to be damaged	0 Nos. plants	
Nos of Plants to be planted @ 250/- plants per RKM	190	Plants

2)

Schedule of Plantation Programme :-

Detail of year wise break-up of requirements of funds is as under :-

111

Sr. No.	Description	Bill	Rate	Amount
A	Net Present Value of Forest Land	Per Ha	887000	62090
B	Compensatory Afforestation Charges	Nos of Plants	Rate Per plant	
i	0th Year cost of Raising of Plants in Nursery.	190	48	9120
ii	1st Year Cost of Afforestation	190	158	30020
iii	2nd Year Maintenance	190	55	10450
iv	3rd Year Maintenance	190	23.5	4465
v	4th Year Maintenance	190	16.5	3135
vi	5th Year Maintenance	190	16.5	3135
vii	6th Year Maintenance	190	14	2660
viii	7th Year Maintenance	190	14	2660
ix	8th Year Maintenance	190	14	2660
x	9th Year Maintenance	190	14	2660
xi	10th Year Maintenance	190	14	2660
Xii	Barbed wire fencing charge (RKM)	0.76	Rs. 65000/- per KM.	49400
Total				123025
C	Supervisory / Over Head /			12303
Total (A+B+C)				0
D	i) Felling Charges (6.71 M ³)	per M ³	720	4832
E	ii) Plantation damage Charges	per Plant	200	0
F	Any other Charges			
	Grand Total (A+B+C+D+E+F)			202250

Divisional Forest Officer,
Fatehabad.

भारतीय स्टेट बैंक
State Bank of Indiaजारी करने वाला गाँव
Issuing Branch: TOHANA
क्र. नं. (CODE No. 0107-
T.H.N. 01692-230062)मानो जातराज वाला गाँव
HARYANA KAMPA UNION BANK OF INDIA
रक्षण द्वारा देना चाहिए।
DEMAND DRAFT
Two Lakh Two Thousand Two Hundred and Fifty Only

Key: NABGEN	Sr. No. 86957	1 5 1 2 2 0 1 0 9
AMOUNT BELOW 202250 (26)	202250.00	D D M W Y Y
मुद्रा प्राप्त / VALUE RECEIVED	3	5
प्राप्तिकर्ता: रुक्मिणी कुमारी	2	4
STATE BANK OF INDIA अदातकर्ता: गाँव / DRAWEE BRANCH: MCR CP CENTRE कोड क्र. नं. (CODE No. 04328)	1	6

कानूनी दस्तावेज़ के लिए नीचे दो अधिकारियों द्वारा सहायता की जाए।
VALID ONLY IF COMPUTER PRINTED
VALID FOR 3 MONTHS ONLY

11.08.2010 00000 20000 0004 15 16

15/11/19

143

कार्यालय

प्रधान मुख्य वन संरक्षक, हरियाणा, 17

वन विभाग, हरियाणा सरकार,

सी-18, वन भवन, सेक्टर 6, पंचकुला, दूरभाष/फैक्स +91 172 2563988, 2563861, E-mail: cffcpanchkula@gmail.com

क्रमांक: प्रशा-डी-तीन-6334/3267

दिनांक: 15-11-19

सेवा में

वन मण्डल अधिकारी,
फतेहाबाद ।

विषय: Diversions of 0.07 ha. of forest land in favour of Executive Engineer, Public Health Engineering Divn., Tohana for construction of inlet water channel from Kalwan Feeder to BML RD 531975, under Forest Division and District Fatehabad, Haryana.
Online Proposal No. FP/HR/Water/10763/2015

विषयोक्त केस के सम्बन्ध में आपको लिखा जाता है कि इस केस में प्रयोक्ता एजेन्सी द्वारा जमा की गई सी0ए0 व एन0पी0वी इत्यादि की कुल 202250/- रूपये की राशि की पुष्टि Dy. Chief Executive Officer, National CAMPA के पत्र क्रमांक No. 1-13/2013-CAMPA दिनांक 18.9.2019 (प्रति संलग्न) द्वारा की जा चुकी है परन्तु प्रयोक्ता एजेन्सी की ओर से निम्नलिखित ऑनलाईन कार्यवाही की जानी अपेक्षित है:-

- प्रयोक्ता एजेन्सी द्वारा उक्त राशि का dummy चालान जनरेट करवाया जाए ।
- चालान जनरेट होने उपरान्त NIC Wing को Dy. Chief Executive Officer, National CAMPA के पत्र क्रमांक No. 1-13/2013-CAMPA दिनांक 18.9.2019 प्रति उनके ई-मेल monitoring-sc@nic.in पर भेजते हुए ऑनलाईन payment status paid करवाने वारे लिखा जाए ।
- स्टेटस Paid होने उपरान्त प्रयोक्ता एजेन्सी द्वारा स्टेज-ा की Online Compliance Report अपलोड करवाई जाए ।

अतः उक्त ऑनलाईन कार्यवाही प्रयोक्ता एजेन्सी से शीघ्र पूर्ण करवाई जाए ताकि प्रस्ताव की फाईनल स्वीकृति जारी की जा सके ।

अक्षय | उपरोक्त

485

मुख्य वन संरक्षक (एफ0सी0ए0)
हरियाणा, पंचकुला ।

क्रमांक: प्रशा-डी-तीन-6334/3268

दिनांक: 15-11-19

एक प्रति प्रयोक्ता एजेन्सी (Executive Engineer, Public Health Engineering Divn., Tohana) को उनके ई-मेल के माध्यम से भेजकर लिखा जाता है आप वन मण्डल अधिकारी कार्यालय से सम्पर्क करके उक्त ऑनलाईन कार्यवाही शीघ्र पूर्ण करे ।

485 15/11
मुख्य वन संरक्षक (एफ0सी0ए0)
हरियाणा, पंचकुला ।

23/11/19

127

PROFORMA
File No. D-III-6334

1	State/ Distt./Forest Division to which the proposal relates	State : Haryana District : Fatehabad Forest Division : Fatehabad
2	Name of User Agency, nature of proposal	Executive Engineer, Public Health Engg. Division, Tohana Diversion of 0.07 Ha. Forest Land in favour of Executive Engineer, Public Health Engg. Division, Tohana for Inlet Water Channel from Kalwan Feeder to BML RD 531975 under Forest Division and Distt. Fatehabad.
3	Extent of Forest area involved	0.07 Ha.
4	Whether Original, or extension	Original
5	If extension of lease, please clarify if proposal involves additional Forest Area and if so specify	---
6	Date of 1st stage clearance	03-11-2015
Amount Realized (In Rs.)		
a)	Compensatory Afforestation	123025.00
b)	Additional CA :	0.00
c)	Penal CA	0.00
d)	Catchment Area Treatment	0.00
e)	Wildlife Management Plan :	0.00
f)	Additional Charges for Diversion of area falling under notified / protected areas.	0.00
g)	Net Present Value	62090.00
h)	Any Other Charges/Levies (Supervisory- 12303/- and Felling Charges-4832/-)	17135.00
	Total	202250.00
	Details of Bank Draft (Bank Draft No. and Date & Amount), head-wise against Items indicated in paragraph 7 above).	Amount deposited in Haryana CAMPA Union Bank of India , Sundar Nagar , New Delhi A/c. No. 344902010105418 through Demand Draft No. 083810, State Bank of India dated 16-12-2016.
9	Whether deposited by RTGS, if so, the particulars and date of remittance	Through Demand Draft No. 083810, State Bank of India dated 16-12-2016.
10	Bank (Corporation Bank, Lodhi Complex / Union Bank of India, Sunder Nagar (in which deposite, with date of deposition)	Amount deposited in Haryana CAMPA Union Bank of India , Sundar Nagar , New Delhi A/c. No. 344902010105418 dated 16-12-2016.
11	Any other remarks.	

Divisional Forest Officer,
Fatehabad.

01
Roshan Lal
24/7/17